
BOTANY (Honours)

Paper : SEC 1-T

lcBCsl

Full Marks :40

v-lit9-t600

Time: TwoHours

The Jigures in the margin indicote full mart<s.

Candidates are required to give their answers
in their own words as for as practicoble.

[Biofertilizer]

Group - A

Answer anyfive of the following questions : 2x5:10

1,' Define organic farming.
- 

,2 Whymycorrhizae are considered as bio-fertilizer?

3, What are inoculants?

;4. Mention the role of biofertizer in agriculture.

5. What are "Actinomycorrhizal symbiosis,,?

d, tistup atleast fourmicroorganisms, used as bio-fertilizers.
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